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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two sections :

Section A — Macro Economics

Section B - Indian Economic Development

(iti) This question paper contains 20 Multiple Choice type questions. Each question
carries 1 mark.

(iv) This question paper contains 4 Short Answer Type-I questions. Each question
carries 3 marks. Answer these questions in 60 to 80 words.

(v) This question paper contains 6 Short Answer Type-1I questions. Each question
carries 4 marks. Answer these questions in 80 to 100 words.

(vi) This question paper contains 4 Long Answer type questions. Each question
carries 6 marks. Answer these questions in 100 to 150 words.

(vii) Attempt all parts of a question together.

(viii) In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

(ix)  There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

SECTION A
Macro Economics

1. Under the Keynesian theory, ‘Reference Line’ is a straight line passing

through the origin drawn at an angle of .
(Choose the correct option to fill in the blank) 1
(A)  25° (B) 40°
(C) 45° (D) 70°
EEE
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2. THfRad ol s ey STeag i : 1

o1 :  HHid STHIT Y (MPC) § ATedd e 377 3ohTs SUNMT 8 & |

FIF2 . A H Ilg o HerEy, ITHIT % TqH AU g GaeT 30 & & H
g & S7fereh BNt 2 |

fou T e % 3Tettes |, fEfeiiRad # & gl faene o1 =a Fifsie

(A) FUT19 8 AXFHAT 2 AR |

(B) W 1 IHAE INFHAT2EA ¢ |

(C) FUT1AR2TA AT |

(D) U 1 3R 2 TAT G |

3. AT =TS o AU o1 HE&T 363 AqqH T T ohivgd AT R |
(kT <A1 g o foTq wiet forehed i s fifsiy) 1
A Todte srEqen (B) et diqemt
(C)  RUI AT T (D) o3 HEHAT 3T{EH
4.  THfAREd ol 1 AMYES ST HIT : 1

FA 1 STIH § AR AR 6T STRITG forawft 951 36t AT o1 O | ¢ |

FIT2:  ARAE (FA) H HETH % [ SRR HHA F foshr s (IBRD)
T foretr wremra, foreft wa st SATgfd 1 Tk Hia 2 |

feu U oMl o 31T |, FEfafgd § @ g8t foshed o1 ==a fifsig

(A) FIT1TT LI HAT 2 IR |

(B) 13T INFIT2HIR |
(C) FHIT1INM2IATIE |
(D) FHIT1IN2IAIAEIR |

5. U fg-g=ia erefeaasen |, gHy | g & INTHS g i
I ST EehRdl 2 | (kT <1 gfed o fo1q @@l forehed T s hINE)
(A) g, e (B) o, s=a
(C) UM, =i (D) =q, g
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2. Read the following statements carefully : 1

Statement 1 : Marginal Propensity to Consume (MPC) refers to the
consumption per unit of income.

Statement 2 : As the income increases, the proportionate increase in the
level of consumption is always more than the increase in
the level of income.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

3. The main objective of measuring the primary deficit is to highlight

present
(Choose the correct option to fill in the blank) 1
(A) fiscal imbalances (B) fiscal balances
(C) recovery of loans (D) cash grant-in-aid
4, Read the following statements carefully : 1

Statement 1 : Import of heavy machinery from Japan is a source of
demand for foreign exchange.

Statement 2 : Financial aid by International Bank for Reconstruction
and Development (IBRD) for landslide in Wayanad
(Kerala) is a source of supply of foreign exchange.

In the light of the given statements, choose the correct option from the
following :

(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.

5. In a two-sector economy, the Aggregate Demand can be determined by
adding and

(Choose the correct option to fill in the blanks) 1
(A)  consumption, investments (B) investments, savings
(C)  consumption, savings (D) savings, exports
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6.  HIRIA oAl T SAYEH LA HITST :
FIT1: TR T AdeTawar § yafdd ATEhifderl Aae i FEHa 3 &
foe, WA Fft AT R |
FIF2 . WK G AR H Gl Sfaqfadi (G-Sec) s forshl gRT, SToehifaeprd
A T T L Fehd | § |
faw TTu SRt & 3TTeties |, ffeTRad § O gt foshed o1 == Fifse
(A) AT 1T 8 AN FHI 2 AL |
(B) 13T I FIT2HAR |
(C) FIT1IAR2TN AR |
(D) FIT1JAX 2T A E |
7. HIUH WA W EhA Ged 916 (GVA L) % T I I G o {8, sTei himd W
ehed 4ol 16 (GVA, ) 9H =l ST TR |
(o Tt =T qfd o fore @l forered =t = i)

(A)  HIBH, SiEl
(B) TR, B
(C) oot ot 2, Siel
(D) fadt SA9ere L, TR
8.  MFIRIA oMl il SAYEh STEHI hITSTT :
FY9 1 HESoh oEqU, o FEIU BIT 8, fSrefeh fo1q g sht 9 $ohTgal gRT YT
IERIEIGIEE

Fo2 . TS awe, 9 a&qQ Bl & S R WY il R g SUETd
(subsidised) & YT ITASH TS ST & |

feu U oMl o 31T |, FREfafgd § 9 g8t foshed o1 ==a fifsig

(A) F9F 19 8 SN FHMH 2 AT 7 |

(B) Y9133 INFIT2TAE |

(C) HYT1IN2INEAR |

(D) YT 1 AR 2 AT AT S |

9. ferfererar ¢ srorreft o 3faid, st oen, foresft fafma (e <t =6 divmerg
&Y fRbd st gsRar g | (kT <A1 g o feTq HE forshed sl == hifSTY)
(A) TR
(B) =
(C)  waifdra faxeft
(D) wUHA
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6. Read the following statements carefully : 1

Statement 1 : The government may reduce the repo rate, to control
deflationary gap prevailing in the economy.

Statement 2: The government may reduce the deflationary gap, by
selling off government securities (G-Sec) in the open
market.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

7. To arrive at the value of Gross Value Added at Factor Cost (GVAp.),
must be to/from Gross Value Added at

Market Price (GVA,p). (Choose the correct option to fill in the blanks) 1

(A)  depreciation, added

(B)  depreciation, subtracted

(C) Net Indirect Taxes, added

(D) Net Indirect Taxes, subtracted

8. Read the following statements carefully : 1

Statement 1 : Public goods are those goods for which the payments are
made by all the entities in the country.

Statement 2 : Private goods are those goods which are provided by the
government of a country at subsidised rates.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C)  Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

9. Under the Exchange Rate System, the Central Bank can
control the foreign exchange rate in a range bound manner.
(Choose the correct option to fill in the blank) 1

(A) Fixed

(B)  Flexible

(C) Managed floating

(D)  Gold standard
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10. f=faIRad oMt — 3R (A) 3T FHRIT (R) T LTI ST |
Tt few v feenet 0 © ol faenea o1 == FifsTe
SR (A) : TcIeT T TThIAT/FFIHAT hl STR/ATT I AU fory STTd & |
FRU(R): A& ol o WITAH 1 S TRl =T SohTs WX TN Tl fohat ST
HhdT g |
IEETC R
(A)  AMFHIT (A) 3 FROT (R) ST T & 3R RO (R), AR (A) &t Gl
TR |
(B)  31f¥rerer (A) 3T &ROT (R) SHT G 8, WAfehT SRl (R), JARTHAT (A) il Tl
ST T & |
(C) TR (A) Ued 8, ik SRl (R) 19T § |
(D) AMHIT (A) 3T &, Afehd RO (R) T # |
11, “3T h) AT hl oFH A o TTT 9T Teh THTET SUHTOT R |7
JY RO g U T e = e fag Fifs |
12. (%) [l 0 H U S % SReH ol god-atdd O @ gefad el &
T sht ST hifsi |
7T
@) fAfafad sreufis sAiwet & SMIR W
S H)
ELT FHHE GDP THHE GDP
(TR Y & H1dl
i)
2020 — 21 3,000 5,000
2022 — 23 4,000 6,000
2020 — 21 ! AR IY A Y, IY 2022 — 23 H IRATIH kel BT TS
(GDP) T gfererd gfterd =it omr hifste |
13.  (F) YTAH e WTd & Sd YSit @Td o [l a1 seehl hl ST hifT |
STET
(@) T el d THREISH oFeAl | 3iat T FHIfNT |
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10. Read the following statements — Assertion (A) and Reason (R).
Choose the correct alternative from the options given below : 1
Assertion (A) : Direct taxes are imposed on income/profits of
individuals/companies.
Reason (R): The burden of payment of direct taxes cannot be shifted to
any other entity.
Options :
(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
11. “Taxation is an effective tool to reduce the inequalities of income.” 3
Justify the given statement with valid reasons.
12. (a) Explain any two precautions pertaining to the Value Added
Method of Estimation of National Income in a country. 3
OR
(b)  On the basis of the following hypothetical data : 3
(in ¥ crore)
Year Nominal GDP | Nominal GDP (adjusted
to base year prices)
2020 — 21 3,000 5,000
2022 — 23 4,000 6,000
Calculate the percentage change in Real Gross Domestic Product
(GDP) in the year 2022 — 23 using 2020 — 21 as the base year.
13. (a) [Elaborate any two components of the Capital Account under the
Balance of Payments Account. 4
OR
(b)  Distinguish between Autonomous transactions and
Accommodating transactions. 4
EEE
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14.  TrefeiRad e = eyEe STerE i
T I GEAT g it ue e o et TR € foh sreferaen o wmy A, fowet
T3siT 3wt e H, e e 31TE & | J8g 3Tfieh =X | a8 i, SATeier iafafedt i
TedTied S o foTu WiHifaer shrRianfEat shl deshie ATI9HehdT shl U hid! 2 |

fow 7T Ty q G I % SR W, 393U skl AT hifSru {51 TR Hehfeeh
UL %l 3ok A & T 3T HRdT R |

15. U FHiedi-eh redeaaee & oy Fefefiad s ard g, 99-5 ™ 9 SdeH 3™+
Tl T STH ST ;
(i) T YA (¢ ) = T 50 S
(i)  ©wid I=d YaiRt (MPS) = 0-2
(i) = a1, = T 300 FE

16. (%) () TieAfcRad kel % SUR W, T8 N I9E (NDP, ) & e il

A T |
#.9. et afdr
RFISH)
() | TE 3T = 800
(i) | Eohel SATITER Trelt gsfl fmior 150
(iii) | Toat AmamEty fafor faer 120
(iv) | TR Hfm I = 270
(v) | 3T ot fia aX smfeer 20
(vi) ‘II'IFI'FEﬁ (Inventory) IEEK] 50
(vii) | et GTesTeh fareT 130
(viii) | T Tee 20
(ix) | Tore=Il & 9TH Y& R A= o) 25
(o) | T gft o1 3w 40

(i)  “3IT o ThIT Y8 o (9 (Disposition) TOT § AT § & qoh
FF AT (factor income) HT YITE AlFATTd BIAT S |7
Y HROT d BY HAA 4G T |

HAAT
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14. Read the following text carefully :

According to a report issued by a research organisation, there is a sharp
decline in the overall demand in the economy, particularly in the private
consumption segment. This dip in the macro economic variables,
highlights the urgent need for strategic actions to stimulate economic
activities.

On the basis of the given text and common understanding, explain the
measure which the government may take to solve the indicated problem. 4

15. Assuming the following for a hypothetical economy, estimate the level of

Break-even Income and Equilibrium Income : 4
(1) Autonomous Consumption Expenditure (¢ ) =% 50 crore

(i)  Marginal Propensity to Save (MPS) = 0-2

(ii1))  Autonomous Investments (I)) = ¥ 300 crore

16. (a) (1) On the basis of the following data, estimate the value of Net

Domestic Product (NDP.) : 4
S.No. Items Amount
(in T Crore)
(1) Household Consumption Expenditure 800
(i1) Gross Business Fixed Capital Formation 150
(iii) Gross Residential Construction
120
Investment
(iv) Government Final Consumption
. 270
Expenditure
) Excess of Imports over Exports 20
(vi) Inventory Investments 50
(vii) Gross Public Investments 130
(viii) | Net Indirect Taxes 20
(ix) Net Factor Income from Abroad (-) 25
(%) Consumption of Fixed Capital 40
(ii))  “Disposition phase of circular flow of income involves flow of
factor income from firms to households.”
Justify the statement giving valid reason. 2
OR
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17.

)

(h)

)

(1)

(i1)

A AT o6, Tk Fredfeh srdegaeen A had dH w1 X, YT Z B |
T I o SN, rfeereen § farfafigd dea frr mu 2

(D H X ERTEH Y %1 % 20,000 T HH Z i F 12,000 % 7 0
EIGREEIREDIRIDIN

(I1) %4 Y §RT %4 X %1 T 11,000 T HH Z i % 35,000 3 H I
e Tersht forarm T |

(II1) H Z SN &%l 31 ¥ 57,000 o AT 1 AT S ITHIT %
ISISEEIRERIRIEIN

3T 1T e o TR R STefeae H, TSR Jod T e Be 318
(GDP, ,,) e shi UM shIfef |

forelt a1 © 20 AQ AT o 0T 1 e steleTaee § gehel Be
31E (GDP) 9 e R 9 It GHTferd THTe hl <=t shifSd |

3Uh HEATcH IATEXUT ST g G fshAT hi fored ™ & GweTsy |

refcTRare T sh1 eaTYeeh ST hiferg
“TZT T g HR Teh AT I o ETH el ol ST afred] farfs=T wat

3OS AT & | I8 HTAT hl T bt J forefar Fehie e shl S1wfd sar g 17

1)
(i1)

faw ¢ 7Ty o ST UL, H2T % Hehfeh 1 i g hifsy |
ST o foheel af 311 1 ol Feflelg, hIfVT |
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(b) () Suppose there are only three firms in an imaginary economy,
viz. X, Y and Z. During a year, the following transactions
took place in the economy :

(D Firm X sold goods worth ¥ 20,000 to Firm Y and
712,000 to Firm Z.

(I)  Firm Y sold goods worth ¥ 11,000 to Firm X and
7 35,000 to Firm Z.

(ITI) Firm Z sold goods worth ¥ 57,000 to households for
final consumption.

On the basis of the given transactions, calculate the value of
Gross Domestic Product at Market Price (GDPyp) in the
economy. 4

(i1)  Discuss the likely impact of construction of 20 new hospitals
in a country on the Gross Domestic Product (GDP) and
Welfare in the economy. 2

17. (a) Elaborate the process of Credit Creation using a suitable numerical
example. 4

(b)  Read the following text carefully :

“This function of money provides different items to be evaluated
against a common standard. It allows comparison of prices and
keeping financial records.”

(1) On the basis of the given text, identify the indicated function
of money. 1

(i1)  List any other two functions of money. 1
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LCLCRC)

WA 21Tfeier faremrer
18. UESH IS foh, fmAfoTRad o & SI9-4T 1947 % 9T WRA o UTfehea™ <l Hfifaat #
AT ! ST 78T ST & |
(A) e Hma-Feior fifa (B) i@ ifd
(C)  ATTd Yfdeemae (D)  fufsra srefeaen yomeft
19. YUEIN SIS foh, WG <ht TTHIOT sifekT Jomeft o o1 § Fefaiad 8 § SiH-a7
AT |
(@& fashed &1 =g Fifs)
(A)  TEEAAT SWId A H, YR H Th GATE &9 & S grfior s soreft s
Frmtor femam o |
(B) 9 H WrHr Sffeh Sorret H sIg-Usiell ST = Teh EHe dferd € |
(C) &ty rivT e, e & iU foehre e IR | AT SfhT Joned % Fo
TEEU] e ¢ |
(D) 9RA ¥ Ui SfohT JomTelt R T2 S o Hriey, ey 9 qdaer &
i o AT R |
20. TIdAAr ST AT H, TG o e AT T g2m PECLRRISEIC T
forQ <rrenfadtar woe fear on |
Ttk T <h1 gfd o foTq wielt forshed =1 <> hfSTY)
(A) 8
B) 7
(C) 6
(D) 5
21. Tordll foiy woeT & T W, WAl ot farferer foret o1 Sedte % farferefiertor
FETH STETIAA R | (T o o6 qfed o for st fererea 1 < ShIRTg)
(A)  ®EAl
(B) &N 3IcUmEA
(C) el
(D) TSR
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SECTION B
Indian Economic Development

18. Identify, which of the following does not indicate the similarities in the
policies of India and Pakistan in the post 1947 period. 1
(A)  Dual pricing policy (B) Green revolution
(C) Import substitution (D) Mixed economic system
19. Identify, which of the following statements is incorrect about the Rural
Banking system in India. (Choose the correct option) 1
(A) In the post-independence period, a well-structured Rural Banking
system was formulated in India.
(B) Rural Banking system in India consists of a set of multi-agency
institutions.
(C)  Regional Rural Banks, Cooperative and Land Development Banks
are few important components of Rural Banking system in India.
(D) Rural Banking system in India works under the guidance,
instruction and supervision of the State Bank of India.
20. In the post-independence era, the policy makers of India pushed for
‘self-reliance’ for the first Five Year Plans.
(Choose the correct option to fill in the blank) 1
A 8
B 7
C) 6
(D) 5
21. Production of diverse varieties of crops rather than one specialized crop is
known as diversification of
(Choose the correct option to fill in the blank) 1
(A)  crops
(B)  agricultural production
(C)  sectoral composition
(D) employment
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22. UM hITSIT foh, GHTeROT o il o Ge H HHARad § 8 HiH-97 99 JIqeT ¢ |
(@& fashed &1 =g Fif)

(A) G YT HIHET
(B)  37UTITE STeNNT T

(C)  SfIg 91T W

(D) Sfier =T TOTerT <Al TE HTAT

23. TR ol 1 Sageeh 3Tega shifsT :

FY 1 AN @re e, SIS A ol G o U o &9 H 118 o =rae sl s
7o ST [T § |

FY92 . =IAqH el 4o (MSP), SR gHT F9ehi o fadl <l 181 o foe fuifa
[EZIEIGIES

few T et o 3Teties |, FfeiRad & gt foehed o1 =i Shifse

(A)  FUT1HT 8 AHA 2 IR |

(B) 130T INFH2TAR |

(C) FH1AN2IA AT |

(D) T 1 3R 2 3T T E |

24, UH A fop, v srefoazen fomr foredt 3foa UsmR & oraedl & gfg &, arcafas
Hhel TLT] 3c4TE (GDP) H gfig it Reerfar 1 e st &1 8 |
aTfefer syrom ), Ut feerfr bt Jfg FET ST 2 |

(fh T k1 g o foTq welt forshed o1 == Hhiferg)

(A) 3RS
(B) THIU=TG
(C) =i
(D) U9 fada
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22. Identify, which of the following statements is imcorrect about the
functions of environment. (Choose the correct option) 1
(A)  Provides resources
(B)  Absorbs wastage
(C)  Sustains life
(D) Deteriorates quality of life

23. Read the following statements carefully :

Statement 1 : The Food Corporation of India maintains buffer stocks of
wheat and rice as a measure to improve market
mechanism.

Statement 2 : Minimum Support Price (MSP) is imposed by the
government to safeguard the interest of farmers.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D)  Both Statements 1 and 2 are false.

24. Suppose an economy is experiencing a situation of rise in Real Gross
Domestic Product (GDP), without any corresponding rise in the
employment opportunities.

In economic parlance, such a situation is termed as growth.

(Choose the correct option to fill in the blank) 1

(A) casual

(B)  informal

(C)  formal

(D)  jobless

EEE
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25.

26.

27.

faefcRaa oMt — 3R (A) 3T FHIOT (R) F7 37094 hifST |

Frr few 7w foreredt | @ w2t faered 1 =9 FifS

I (A) : WIHE ATZHE TS o e fereh fofzm 3 o it wai bl wfceqe s
T T |

FRO(R) . T3sit &t 3 Seare ot T[urer o RIS Sfceaeicaendr H Ifg i &
ST ATZEH TTH H HEwIqol §H STl fohalT o |

IEETE
(A)  AMNYFAT (A) 3R FROT (R) 3FT T & 3R FHRT (R), ANTHRS (A) FT Tl
TR |
(B)  3firred (A) 3R HROT (R) SHT T 8, wAfehd FR0T (R), AMFHAT (A) &1 T&t
FRATAET 2 |

(C)  AMYFAT (A) T ®, AfehT HROT (R) I R |

(D)  AMYHAT (A) 3T 7, Afehd 0T (R) T R |

TR ot =t e Yeish 3Tea I ;

FIT1: AR RN o ATaETIHRT o forg, forfeer it e of |

FIT2 . AT o a9k &l o fore, forfesr smeent 9 vyra &t e -g=mT &
forehTe WX &1 hiesd TR o |

feu T et & AT 1, Fefaiad 4 9 gl fashed &1 wae il

(A) FIT 1T ANFHIT 2 I & |

(B) HIT1IATIEANFIT2TAE |

(C) FIT1IAR2TN AR |

(D) AT 132 AT TS |

Freferfad shemT — ANTRAT (A) 3T FRT (R) T 7924 HINIT |

Tt fow U foeneat 0 © Ol faenea 1 == HifSTe

I (A) : A Ystt § e # forereryel fofr o % foig g=r qewul Jfivss
ERIGIEA

FRU(R): TN 2| TSR o 314 &1 S8 {787 T TaTees o o H {1 ITH L
& fofu fFemr i € |

IEET R

(A) 3P (A) 3R FROT (R) THT T & 3R FHRT (R), AR (A) FT et
T |

(B) 3R (A) 3T FHROT (R) ST AT &, AT 10T (R), AR (A) it &l
T TET 2 |

(C)  AMNHIT (A) HcT &, Afohd HI0T (R) T # |

(D) TR (A) 18T B, AfohT RO (R) I & |
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25. Read the following statements — Assertion (A) and Reason (R). Choose
the correct alternative from the options given below :

Assertion (A) : Excessive regulation of permit license raj prevented
certain private firms from becoming more efficient.

Reason (R): Private sector wasted a significant time in obtaining
licenses rather than enhancing product quality and
international competitiveness.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
26. Read the following statements carefully :

Statement 1 : The British policies were accountable for commercialisation

of Indian agriculture.

Statement 2 : In the larger interest of Indians, the British rulers focused

on the infrastructural growth of India.

In the light of the given statements, choose the correct option from the

following :

(A) Statement 1 is true and Statement 2 is false.

(B) Statement 1 is false and Statement 2 is true.

(C) Both Statements 1 and 2 are true.

(D) Both Statements 1 and 2 are false.

27. Read the following statements — Assertion (A) and Reason (R).

Choose the correct alternative from the options given below :

Assertion (A) : Information plays a crucial role in judicious
decision-making about investing in human capital.

Reason (R): Individuals invest to acquire information about the labour
market and other areas such as education and healthcare.

Options :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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28.

29.

30.

31.

TR H TRIS o 3gWd o TTg FSTeiarR sl sht STt Shifrg |

@) forfesr sme % i@, wRa i raRkerq Aifs IO T AHAT AT YT,
Toh G1 HHTYH I 99 HueT {57 gEdiaig fohu Tu 9 |7
faw a7 e <l o TateRTor g g shifse |
3T

(@) 1991 % GERI H WRA HEHR R ST 15 T 1Tl T HTATHA HITSTT |

faQ TU 7T 1 eATEeh TR I & FHHfead St o TR a1

e i & g™ SEEan & Ifd-3a 8, o9 7 Toha dar Aifa’ IR i off | 38 A
%Wﬁﬂﬂ?ﬁ(couples)qﬁaﬁﬁ@ﬁédldW%Qﬁ&fﬁﬁﬂ?ﬁﬁ’ﬁcﬁIE'H
i = == =l SE gfe it BT o § aemr s of |

3@ Aifd % AEEqUl qiom W 30 gY, S TR gal T e S, I
STITHERAT & o S0 T ST Te Uohel a1 o Tl AT ST 3T |
2015 H 39 HAifd # <ict <t 18, Foree qeft et st &1 Har YT A shi SAwid e T
oft g 2021 | 3 3R fI1Tret shteh oI Gl aes o feam |

%ol THATeR, Sfeifeh Gt M Aifd 3 Seean gig st HEhia s o 7o wrefies
A& 1 TH TohaT o, U 36 SIHETReAeh o WIS <Al 31 G Siieed aqe |l
Ieq1 forar foreent g < TS fr e @ R |

() = ke a i o FrRI-aE o TR SRl FHETET |
@) =T ke GaW A o SR & fREt Tk SR T Seoid FIfNT |

@) (@) A S iifdes i § S T i |
(i) T & § CLPGY 9 MR A9’ kT gl foehe Iiw e & forg
IUINT <Rl ST ITedt Wi o &9 7 Joig hifsg |
YT

@ () U YRd H gEW-8E (micro-credit) FEHHT HT HTAHIHS
T ShITTC |
(i)  orofig faeE & 319 &1 3ot i |
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28. Elaborate the reasons responsible for emergence of poverty in Pakistan. 3

29. (a) “Under the British rule, India underwent systematic economic
exploitation with its resources and wealth being diverted to
Britain.”

Justify the given statement with valid explanation. 3
OR

(b)  Appraise the Navratan policy adopted by the Government of India
in the reforms of 1991. 3

30. Read the given text carefully and answer the following questions :

In response to the problem of rapidly rising population, China introduced
the ‘One Child Policy’. The policy restricted couples to having only one
child. This policy helped China to limit the population growth.

This policy led to significant consequences, such as an increase ageing
population, gender imbalances due to male child preference and social
challenges for single children, etc.

This policy was relaxed in 2015, allowing all couples to have two children
and further relaxed to three children in 2021.

Overall, while the One Child Policy achieved its primary goal of
controlling population growth, it also created a complex set of
demographic and social challenges that China continues to address

today.

(a) Explain the consequences of implementation of the One Child
Policy in China. 3

(b) State any one reason for the implementation of the One Child
Policy in China. 1
31. (a) (@) Distinguish between human capital and physical capital. 2

(i1)  Describe ‘LPG’ and ‘Gobar Gas’ as strategies used to achieve
sustainable development in rural areas. 2

OR

(b) () Critically appraise the micro-credit programmes in rural India. 3

(ii)  State the meaning of sustainable development. 1
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32. U T 5, Ioi F foreqa e shifsi o fmfoiftaa svem ae & stean oo
@) Sl FY, T F W@ F WHT TR T TG Sk @ 9
STeReITTd S T Tsh |TeH Y& L] & |
(@)  9Rd H FRIe % SFAATATNRIHTT 327 o JAT3HT o 7e YA GSi o Al T
fafi= arei dafg Fr 2|
33. (&) () “1991 % IWid &Y § WG GHR gRT A918 T8 fafvasr fifa @
TRAT TN HAT ATHTIaId 88 & 17
H=T dohi g1 faU T4 sher skt guel an wew hifs |
(i)  SRIok (Tariffs) 9 12T (Quotas) H S TIF HIfVT |
TeraT
@) () 1991 % 39T AT H YR TR FR AN R 7 forfizr & o gemd
it wa o <= ife |
(i)  SIgUad IR o f3-vafi SR H T eg Hif |
34. TmfcRad e st eayes stera hife
AT 2| It HAEIUT o SRS oh JTEAR, ToTd ©: a1 §, YRR 2| TSR Hehdohl H
AT AT & | 2022 — 23 T SUSTIRI & = F 3-2% B 7§ & | FEaA § oAl 9
ufgerst it wrfiert # gfg & sHaiferdia  <ifires amieT 1 am 33M % STae T
TC R | HFdT USTIR 31Tohe forfia o 2022 — 23 o wwfeq fafmior & & 3=t 1 qwid
€ 50k 919 & USHTR ¥ gfg 9 g o1 foear wftufera 2 |
forTa wier at % EPFO  3fd 3[4 oa ST ot aTet G & AT 81 e &, st foh
T fehTe o STI=Tieh USHIR o Hohd © |
TUTETYUT TUSHTR S L o U 1T T o FIT SN-SEEahor o q@vTet Srefeereet
% 2T AT faehed £ |
few T T T =T I % IR R, FEferiad e o s e
(F) R FHEdee H g1 88 a1 9 AT WRIIEH ol hIg Ueh Wawl S8y |
(@) R H TOEEel USTR G5 o SRMSHE A4 S aTel el 3t &1 o6t
U ShITSIT |
(M) 3Yh IETELT hl HERIAT § o SISHTR] o 37 sh foReqel samed shifsie |
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32.

33.

34.

State and elaborate whether the following statements are true/false, with
valid arguments :

(a) Organic farming offers a means to substitute costlier agricultural
inputs with locally produced organic inputs.

(b) Informalisation of workforce in India, has increased various
concerns on the front of employment generation among the youth
of the country.

(a) (1) “Indian economy has hugely benefitted by the disinvestment
policy adopted by the Government of India in the post 1991
period.”

Defend or refute the given statement with valid arguments.
(ii)  Distinguish between Tariffs and Quotas.

OR

(b) () Discuss briefly the financial sector reforms undertaken by
the Government of India in the post 1991 period.

(i1))  Distinguish between Multilateral Trade and Bilateral Trade.
Read the following text carefully :

Indian labour market indicators have improved in the last six years, as
per the Periodic Labour Force Survey Data. The unemployment rate has
fallen to 3-2% in 2022 — 23. Rising youth and female participation in the
workforce present an opportunity to tap the demographic and gender
dividend. The factory employment data exhibits the bounce back of the
organised manufacturing sector in FY 2022 — 23 with rise in employment
and the upscaling of factories.

The net payroll additions under EPFO have more than doubled in the
past five years, signalling healthy growth in formal employment.

To generate and sustain quality employment, agro-processing and care
economy are two promising candidates.

On the basis of the given text and common understanding, answer the
following questions :

(a)  State any one significance of rising youth and female participation
in the Indian workforce.

(b)  Identify any two sectors which may be highlighted as promising for
generating quality employment in India.

(c)  Elaborate the meaning of disguised unemployment with the help of
a suitable example.
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